EARAROBEEIERT — 2 N— IBISH —F

20185F9A27H () 11EAFH6H

m#7¥ # C11314 B
[A&4£] 1 7% :1,200,000 @ ~ 2 7 :480,000 @ . 33 :300,000  ~ 4 3#:180,000 @ . 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. .= R 144, 20— . — EER (K3
ilglo|TavysT51 1 o7 25 1(4_4)7 2-2-2-2 | 40.7 4 (4_628) Eﬁm?;
L:T7ANVRSyY1 BA4IOn-4—% KEHE
-, — 5B 144, S48 . — HE3hw (KH#H)
2 4| TLZ1T714— R 56.0 (17,‘;177) 438|405 2 ?ff) i o e
LY LF1N—b B:IZANYT BE kB
WRYIITEN s 7 | FMEARA 1:45.1 -1-1-1 |41 — 8 461 | EERIK (KHH)
3|77 /¥Vx> 54.0 @ (+3) |EHTE
x4 agR—-5— B:UTN<—-7 T EAtE
S . EIEER : ~6-9- — HLEBE (KH)
45|57 RAHOS o4 i (11.415/.24) 5-6-9-7 | 41.1 6 <4+718) ﬁaafef
LY IRG4TIR B:d—-IUTFoRT1— ANET I
= o4 | EIE 1:45.7 6-7-7-5 |41.2| — 1 488 | ERZER (KH)
50117 ~¥7~>~ kX 56.0 (11/2) (+4) IEJEEQE
R:FHh¥<v7128 BLEVFZ EEY -]
S B 4 | REMEE 1:45.7 9-9-8-6 | 41.2| — 5 455 | AREEZ (K3#)
517l8|7—#~ 54.0 (A1) ©o |BBETF
R:d—JIVR7Ya—Jb B:a->FK— BT 7 —L4
e 7 = i3 | ElERE 1:46.5 10-10-10-9 | 41.0 | — 3 486 | RITTR (KH)
7 9 | RAT AR 5.0 @ (+4) ) o
LTI RATLE— B h=TT4—Fa1> Nipse]
= # 5 | HIBESR 1:47.9 3-3-6-9 [43.9| — 10 485 | EZFEDE (KH)
glgli0l 771 79_ 5.0 @ (+2) | EHEB
LN T=T— Biv—T2N>T— N T — i
=% . LHEfEA 148, 84— . — BB (KFH)
9 NEENTEEE S o7 £ 1 (4:3) 7 8-8-4-4 | 44.7 7 (i??) o
L:T7HIHFLIY B Ro 7 —N [l e]
[N 9 BEE 149. —5-5~ . = o RFE— (KFH)
T 6 TR 2 4| BT 1(4:))6 7-5-5-8 | 45.6 9 (4_527) ol
L:xF1=FGr— B:IXMIALTU-2 TATHHS
® 1—F—@EBIERL
1T=7r= 7,9,10,4,5,1,6,3,8,2
2d—F— 7,9,10,4,6,5,1,3,8,2
Ja=5= 7,9,4,3,6,10,1,8,5,2
43—+ — 7,9,4,3,1,8,5,6,(2,10)
[ /N
B 9 820H 714K 4-9 370 e E 4-8 1,1408 JEE 4-7-9 6,010
B B 9 1609 7-9 1,780H e B 8-4 2,950 JEE 9-4-7 34,2004
4 140 4-7 1,030M B & 4-9 1,050
7 380H B H 9-4 2,930
ABICOVWTRHDTERERRODLDE, THERLE,




